Arssammanstallning 2012

Nederbord (manadsvis)
Manad Nederbord Snédjup (cm) Temperatur (°C) Vind (m/s) < 2000 25 =1
mm [Nb-dyg Min| Max| Min[ Max| Medel| max|dygn >10 E 1500 20 2
1 740 21 5|  41] -131] 241 37| 128 5 T 1000 15 4
2 49,8 13 37 61| 249/ 36 9,0/ 102 1 S 10 5
3 18,3 10 27 57| -12,6] 12,0 05| 14,0 1 g 200 5 5
4 86,1 17 0 35| -10,1] 9.3 1,6] 130 5 § 0.0 03
5 56,7 12 0 o] -19] 218 72 83 0 123456 7 8 9101112 <
6 44,3 8 0 o] -06] 271 129/ 98 0 )
7 31,7 16 0 o] 116] 308 172 7.9 0 me=Nb-dygn —¢—Nederhord
8 29,5 9 0 0| 46| 277 16,1] 75 0
9 105,2 13 0 o] 02 193 95| 69 0 Snodjup (méanadsvis)
10 1448 21 0 1 6,7 133 35| 10,0 1 Jup
11 32,4 16 0 o -48] 75 24 64 0 .
12 117 23 31 63| -184] 38 62| 102 2 E 28
Sum/max/ = 40 | Min
min/medel 789,8 179 0 63| -249| 30,8 43| 140 15 2 50 m Max
:(% 0 T T T T T T T T
Temperaturkurvor 1234567809101112
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